SSC CGL 2024 | SPECIAL MOCK TEST - 20 : SOLUTIONS

| A-GENERAL INTELLIGENCE & REASONING |
1. ) DOGMATIC

If the place value of the letter is a single digit (0-9) i.e., A toI, then it is shifted by + 1 position.
If the value of letter is a double digit (10-26) i.e., J to Z then it is shifted by + 2 positions.

(a) Depression is related to mood similarly insomnia is related to sleep

(d) Conclusion 1:
Vinod bats well — False Vinod is a good cricketer, it doesn't mean Vinod can bat well.

Conclusion 2:

Vinod plays other sport too — False because in the statement there is no information available about
Vinod.

4. @ R>X>S>T>U>V>W

'W' Scores the least marks in all the students

5 () Pens

11
7. (a) ¢ = 30h Y min
According to question.
30 x7 i x 0
2

=210°
Other angle = 360 - 210
= 150°
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10.

11.
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Here, B is sitting immediate right to D.

9x2+1=19
19x2-2=36
36 x2+3=75

75%x2-4=146
146 x 2 + 5 =297

10
125

7
(10+12) — (5+7)
22 -12

(11+16) — (8+4)
27 - 12

(15+9) — (5 + 6)
24-11
13

East

% N
10km 10 km W%E
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6 km
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12. (a) Ratio of present age of Pand Q=2:3

Age of P=2p
Age of Q =3p
Eight years ago

Age of P = (2p — 8) years

Age of Q = (3p — 8) years

According to question age of P =g

(3P-8)
- (2P-8)= =
2
— 4P-3P=16-8
P=8

Age of 'P'=2P =2 x
Age of 'Q'=3P=3 x

2

8=16
8 =24

Sum of the age of P and Q

= 16+24=40
13. (a)

X3! x3 -2

14. (d) 022 2
4 11 31 65 193 389
N NS N

(x2+3) (x2+3)

15. (0) = 3

+5 +5

(x2+3)

+5

16. (a) 2

LE,0J,UO, DT, PY

+3 +6 +9  +12

+5‘

17.(b) 5 5 45
QML , PRC, OWT, N

T

BI? MGB

L] |
-l I =l

-1

-1
-9 -9 -9
18.d) g——pg &

A—C
'A' is the son of 'B'.
19. (b) Photo"

BrotherJr

Shivang

Mother ~

The person in the photo is Shivang's Maternal Grandfather.
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20. (a) Earth

Forests

1. Traingle

2. Trimmed
3. Tussle
23. (d) Correct logical order is
School — Education —
Recuritment —» Employment — Salary — Promotion
24. (c) "ARE" =87
A1) xR (18) xE (5)
=90-3
=87
"NOT"
= 14 x15%x 20
= 4200 -3 =4197

"CAT"
=3x1x20
=60-3
=57
5. (C) corpaing <V ome

15m
15 m 15m W E

S
20 m

Distance from office to car parking=20m + 15m =35m
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I B-GENERAL AWARENESS |

26. (b) Louis Pasteur was a French biologist, microbiologist, and chemist famous for his discoveries of vaccination, microbial
fermentation, and the principles of pasteurization.

In 1857 Pasteur discovered that yeast is responsible for the process of fermentation, where sugar is converted
into alcohol.

This discovery was significant in the field of microbiology and contributed significantly to the understanding
of biological processes./Yb 1k*pjJ ,d Uklhlh thofoKut] 1{e thofoKkut wij jlk;uK Fk tk Vidkdj.k] I{etho fd.ou
vkj ik pjidj.k d flviri dh [kt d fy, cflv Rl
1857 e ik*pj u 1k;k fd [kenj fd.ou dh ¢fd;k d fy, fttenkj g ] tok piuh dk vYdigy e ifjofrr fd;k hrk gA
;0 [kt I{e tho foKku d {i= e egRoi.k Fit vij blu tfod ¢fd;kvk dk Ie>u e egroi.k ;kxnku fn;lA
27. (c)
28. (b) British officer Robert Clive bribed Mir Jafar, who was the commander in chief of the Nawab's army.
. This bribe was to make Mir Jafar the Nawab of Bengal.
. Clive's goal was to conquer Bengal to obtain wealth and resources needed for imperialism.
fcfvk viZdijh jkcV Dyibo u efj thiQj dk fj*or nh Fit €k uokc dh Buk d ¢e[k deiMj FikA
. ;gfj'or ejtind cxky dk uokc cuu d fy, FiA
. ytoo dk y{; lelT;oln d fy, vio*;d Zu vij 11/u clir dju gr cxty dk thruk FiA
29. (d)
30. (a) CWG Climate
This type of climate is found in most parts of the northern Gangetic plains.
In this type of climate, summer temperatures rise up to 40°C, which falls to 27°C in winter. Most of
the rainfall occurs in summer and winters are dry.
The CWG type of climate is also known as ‘monsoon type with dry winter climate’./ IIMCY; €h tyok;
bl cdlij dh tyok; mlkjh xxk d enkuk d vEi/dk'k Hixk e ilb tirh gh

bl gdj dh tyofk; e] xfe;k dk riietu 40° IfYI I rd c< tirk g] & Mn;ke 27° 1YL 1 rd fxj thrk gh vi/
di’k o'l xfe;k e girh g vij Ifnske 1k g
IOMCY; th cdlj dh tyok; dk **k'd Ifn;k dh tyok; d Ik ekullu cdkj* d -1 e Hit thuk thrk gA

31. (c) The states and union territories with the highest percentage of tribal population in the total population of
India as per the 2011 census are Mizoram (94 4%) and Lakshadweep (94.8%)./2011 dh tux.kuk d vulkj Hijr db
dy tul[;ke tutirh; tul[;k dk mPpre ¢fr'ir okyk jiT; wij da "kflr cn'k fetkje (94-4») vkj y{k}i (94-8»)
oA

32. (d) The 86th Amendment to the Constitution of India in 2002 provided the Right to Education as a Fundamental
Right in Part-III of the Constitution.
The amendment inserted Article 21A which made the right to education a fundamental right for children between
6-14 years.
The 86th Amendment provided for follow-up legislation in the Right to Education Bill 2008 and finally the
Right to Education Act, 2009./2002 e Hijr d Ifo/lu e 860 1'/u u f'k{ik d vi/dk dk Ifo/ku d Hkx& 111 €
ekfyd vi/dkj d zi e ¢niu fd;Hi
I'/u u wvuPNn 21a Myt felu f'i{k d vi/Zdij di 6&14 o'k d chp cPpk d fy, ,d elfyd
vi/Zdij cuk fn; A

f'k{kk dk vi/dkj fo/;d 2008 d fy, vuorh diuu vij vr e fk{ik dk vi/dkj vi/fu;e] 2009 d fy, ¢nlu fd;k
X;k 860k 1"/ u
33. (b) The salaries and allowances of the Oppos1t10n Leaders in Parliament are governed by an Act first passed by

Parliament in the year 1977./ 1In e foi{lt urivi d oru vij Hlk o' 1977 e 1lIn Hjt igyh cij ikfjr vi/fuse M
"Wfhr gir gA
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34. (c) The Bretton Woods Agreement was a conference attended by representatives of 44 countries held in Bretton
Woods, New Hampshire in July 1944.

The Bretton Woods Agreement created two important organizations
1. The International Monetary Fund (IMF)
2. The World Bank.

While the Bretton Woods system was dissolved in the 1970s, both the IMF and the World Bank remain strong
pillars for international monetary exchange./CVu oMl le>krk €ykb 1944 e cVu oM1] U; gej'ik;j e wi;iftr 44 n™ik
d cfrfuf/;k Hjk wvi;ifer ,d 1Eeyu Fi

cVu oMl le>fr u nk egroi.k IxBu cutk,
1 vrji'vh; esk di% (TmF)

2- fo*o cdh
tcfd cvu oMl fILVe dk 1970 d n*kd e Hx dj fnsk x;k Fi] vrjk'vh; eak fofue; d fy, wvib,e, 1] vij fo'o cd
nkuk etcr LrH cu g, gA
35. (c)

36. (d) The poverty line is a method that measures poverty based on income and consumption levels.

The poverty line is a threshold level of income or consumption, below which individuals or families are considered
to be living in poverty.

This method helps identify people who need financial assistance and social welfare programs.

Poverty lines vary from country to country, reflecting the cost of living and economic conditions in each

region /xj j[k og fof/ g t wk; vij mikx d Lrj d wviZlj ij xjhch dk ekirh gh
ch jIk vk; sk miHkx dk ,d Ihek Lrj g] ftld utp 0;fDr;k ;k ifjokjk dk xjich e jgu okyk e rk g

g fof/ mu yk Xk dh 1gpku dju e enn djrh g ftlg folih; Ngk;rk vij Delftd dY;k.k ok;@ek dh ko ;dri ghrh gA
ch [k n ke fHlu girh g] th cR;d {i= e jgu dh ykxr vij wifRd ifjfLRdr;k di n*lrh g

37. (b) The gas molecules are freely moving and hence they collide with the walls of the container, producing
a force.

This force per unit area of the container is called gas pressure.

It depends on the volume and temperature at which the gas is stored in a closed system i.e. container./

xI d v.kLors i I xfretu gir g vij bify, o dVuj dh nhokjk I Vdjir g] fell ,d cy mRilu ghrk gA
dVuj d ¢fr bdib {ik d bl cy dk xI nic dgk thrk gA
;0 olY;e vij riielu ij fulj djrk g ftle x1 ,d cn flLVe vFkr dVuj e tek gk tirh gh

38. (d) A microwave oven uses microwaves to heat food.

In the context of microwave ovens, the radio wave frequency typically used is 2,500 MHz (2-5 GHz)./
ekb@koo vkou Hiktu dk xe dju d fy, I{e rixk dk mizkx djrk gA
elb@loo viou d Int €] vierlj ij mi zkx dh thu okyh jiM;k rix dh vkoflk 2]500 exkgVt (2-5 xhixkgVt) gkrh
[oll}

39. (¢) In a chemical formula, the metal ion is in the first position and the non-metal ion is in the second
position.

Metals form a cation, while non-
metals form anions./,d jklk;fud 1= e] Zir vi;u igy LRl vij xj&Zkr vi;u nlj LFku 1j gkrk gh
/ir ,d dfV;u cukr g] tcfd xj&sir, ¥2.k;uk dk fuek.k djrh g
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40.

41.
42.

43.

44,

45.

46.

47.
48.
49.
50.

(b) Bacteria exist in various forms, mainly spherical, rod shaped and coiled or spiral shaped.
Rod shaped Bacillus: Bacilli
Spherical Coccus: Cocci
Comma shaped Vibranium: Vibrio

Spiral (coiled) Spiralum: Spirilla/ thok.k foftlu - ik e ektn gir g] e[; -1 1 xkykdkj] jiM d vidkj vij dMyh ;k
Ifiy d vidij ek

jiM d wvidj dk cfly s cflyh
xkykdlj dkd 1% dkdh
diet d wvidkj dk olbfc;eh ofbfc;k
Ifiy(dMyh) Hiyeh fLifjyk
(b)
(d) The International Day of Peace is celebrated around the world on September 21.
The day is dedicated to strengthening the ideals of peace among all countries and people.

Established in 1981 by the United Nations General Assembly, the International Day of Peace was
first celebrated in 1982./Vvrjk'Vh; "kfr fnol 21 flrtcj dk nfu;k Hj e euk;k thrk gh

;0 fou BHO n™lk vij yixk d chp "lfr d vin'lk dk eter dju d fy, lefir gA
1;Dr ji'V egkIHk ik 1981 e LFifir vrji'vh; “ifr fnol igyh ckj 1982 e euk;k x;k FiA
(d) NIA is the National Investigation Agency.
NIA was established in the year 2008 and its headquarter is located in New Delhi.

It was established by the Indian government to deal with terrorism./NIa, u“kuy blofLVx“ku , €Ih(jK'Vh;
tkp ,tih) g

n1A dh LFkiuk 0 2008 e gh Fih vij bldk e[;ky; ub fnYyh e fLFr gh

bl dh LFikiuk Hjr Tjdkj Jjk virdokn 1 fuivu d fy, di xb Fil
(b) Leela Samson is a renowned Indian classical dancer, choreographer and teacher of Bharatanatyam.

Bharatanatyam is a major style of Indian classical dance that originated in Tamil Nadu. Leela Samson has
been a prominent figure in the field of Bharatanatyam and has contnbuted significantly to its popularity and
preservation./ Yhyk lelu ,d ¢fl¥. Hk "WLh; urdh) difj;kxkaQ) vk Hkgrukv;e dh fi{kdk gA Hjrulv;e Hijrh;
"L uk; dh ,d cefk Tkyh gftldh leka rfeyukM e gb FiA yhyk Telu HkJruV ed {e ,dce[k0;Dr joh g Vi
migku bidh ykdfg;rk vij 1j{k.k e egroi.k ;kxnku fn;k gA

(b) In 1791, the efforts of Jonathan Duncan resulted in the openmg of Sanskrit College in Benares to understand
the law, literature and religion of Hinduism. /1791 e] thutFu Mdu d ¢;klk d ifj.lkeloz 1 culjl e fgn Ze d diuu]
IigR; vij Ze di le>u d fy, ILNr egdoky; [yt x;i

(d) Aurangzeb was the sixth Mughal emperor, who ruled much of the Indian subcontinent. His reign lasted from 1658
to 1707, making him one of the longest-reigning Mughal emperors. Under his rule, the Mughal Empire achieved its
greatest territorial extent, encompassing almost the entire Indian subcontinent. / ij xtc NBk exy lelv Fi] felu

Hijri; migeghi d viZdik Hix ij "B fdl sk Fith mudlk "Kludiy 1658 1 1707 rd pyi R ftl 1 o icl yic le; rd
"IKlu dju oty exy lelk e 1 ,d cu x;A mud "lu e] exy MelT; u viuk Icl cM {i=ih; folrlj gifly fd;k] ftle
yxHx Bi.k Higrh; mi&egidh * fey FiA

CHCHCHC
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I C- QUANTITATIVE APTITUDE |
S1. (c) Let,

Total Votes = 100
(Invalid) (Valid)

18% 82%
48%, 52% (other

candidate)

39.36 42.64

Now

100 = 17500

1=175

42.64 = 7462

52. (b) Area of the base of cone = 1441 cm?

nr? = 144n
r=12

According to question, cone is remoulded to obtain a solid sphere, so

height of sphere will be
Jo? +n2 =12
= J12?+n2-13

h=5

Now,

4
37 R?® = Volume of cone

4
= anR3=240n

= |R=%/180
53. (c) Total number of cards = 52
Number of red face cards = 6 (King = 2, Queen = 2, Jack = 2)

6 3
.. The probability that the card drawn is a red face card =55 = 26
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54. (d) Let, M = my current age & C = cousion's age
According to question,

Smo2
5 6
M_ 25x
C 18x
Now,
25x-10=18x + 4
7x=14
x=2

My current age
=25x%x2
= 50 years

55. (b) Mean Proportional= /3 x /b
— JOTB% x OB - 0.72

56. (c) Diameter of wheel (r) = 7 cm
Diameter of other wheel (r) = 14cm
Let the revolution of wheel per second be x
According to question,

7
[Qrx 5% X)+ (2 x7x x)|x10

=1980
Also, [(14mxt28mx)] = 198x2
—21mx =198

x=3

Speed of bigger wheel = 21x7x3 = 132 cm/sec
57. (b) Menelaus' theorem states that when a transversal line cuts the side BC, CA, AB of triangle ABC at
D,E and F ively th @ngﬂ—l
,E an repectively then DC “EA FB -

AF BD EA
=> SXt Ao
FB DC CE
58. (c) The mode is the most frequently occurring value in a data set.

With the help of options, if we will take x =27, then the 27 will occur most of the time and hence 27
will be the mode the given data set.
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59. (c) S.I for 3 years

_ 7000x3xr
- 100

Next 2 years interest will be

=210r

_ 3000x2xr _
100

Total interest in 5 years = 210 r + 60r = 270r
Total extra interest paid

= (4000 + 4350) — 7000 =1350

According to question,

270r = 1350

-

60. (d) Dividend rate for the first year = 10%
Dividend rate for the second year = 15%
Dividend rate for the third year = 25%
Now,

60r

for first year = 3099 x 100

=300 Rs.
for second year = 3000x 100
=450 Rs.

. 25
for third year = 3000x 100

=750 Rs.
= Total dividend received = 300 + 450 + 750 = 1500 Rs

61.() (9" (8] _2
4) 27 3
E 2x 2 3x-3 _2
=~ 12) (3 3
56 -G
=~ 13) (3 3
(E)—2X+3X—3 ~ (2)1
= (3 |3
comparing the power of both sides we get,

=>-2x+3x-3=1
x-3=1

x=4
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1
62. (d) A does grd work in 4 days

3
Bdoes Zth work in 15 days
A=12~2
B - 20—560

Total days = e 75

MP 4x5 20
63.(b)S—P

" 3x5 15

CP 4x3 12

SP 5x3 15
= 20=1500
.12 =75x%x12=900
64. (b) Loss Profit
-25% 15%
Pl
15 25
3:5
8=7200
1=900 =2=1800
65. (c)P: Q
7:6

According to question,

7x+12_2
6x+12 8
xX=6

current age of P = 7x=7%x6 = 42
current age of Q = 6x = 6x6 = 36

.. Difference between ages of P and Q = 42 — 36 = 6 years.

66. (d)A:B
2 : 1 (efficiency)
According to question,
Total work = 3 x 42 = 126

126
= 63 Days

A alone can complete the work = ICE
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67. (d) Total employees = 40
According to question,

Total salary of all employees can be calculated as

(5x2,50,000)+(15x80,000)+(20x45,000) = 33,50,000

= Average Salary =

33,50,000
40
68. (b) L.C.M and H.C.F 28 and 42
28=2x2x7
42=2x3x7
L.C.M = 2x2x3x7=84
H.C.F=2x7=14

= 83,750

69.(c) A

Using hypotenuse theorem,
AB?+ BC?*= AC?

X? + x2 = 42

2x%2=16

x?=8
x:2\/§cm
70.(d) (0-23+0-63+0-15)

23 63 15
= 99 99 99
101

= 99

31@

71. (@) 16y2 - K = (43’*%)(43’_%)

»O

9
16y’ - K = 16y° - K=
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72. (b) According to question,

6

ey 9 3>

X+y=15
X-y=3

x=9

y=6

.. Area of trapezium =

1 1
D) (sum of parallel sides) x Distance between the parallel sides = 5 x 15 x 4 = 30 cm?

73. (b)
Q
P ‘ \ S
/ r
R
OR o
/ QPR = QOR _ -,
2
Z QPR+ Z QSR = 180°
Z QSR =110°
.+ ZQSR + /RST = 180
#RST =70°
74.
) Cot(A) +Cos? A+ Cos?B= % +Cos® A+ Cos?(90 - A)
Cot(B) ot(90 - A)
_ Cot(A)

+Cos? A +Sin” A
Tan(A)

75. (d) The L.C.M of 6, 8, 12, 15 and 20 is 120.

Now, on dividing 99999 with 120 it gives 39 as remainder. So, in order to get greatest five digit number which
is divisible by 120 we have to subtract 39 from 99999.

.. 99999 - 39 = 99960
I D-ENGLISH COMPREHENSION |

76. (a) Adolescence (fdkjkoLFkk) means the period of time in a person’s life when they are developing into
an adult.

Childhood (CpIiU): Refers to the early period in a person’s life before they become an adolescent.
Teenage (fd"lkj VOLFK): Refers specifically to the period from ages 13 to 19.
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e
78.

79.

80.

81.

82.

83.

84.
85.

86.

87.

88.

Adultery (0;fHkpkj) : Extramarital affairs.
(a) What she meant (nldk eryc Fi) is that he is a mean (%fV;k) person.
(a) Amature: This is the incorrect spelling. The correct spelling is Immature, which means a person who

is not matured.

Apparently (tkfgj rj 1J): Correctly spelt. It means something that seems to be true based on what is
known or seen.

Committed (lefir): Correctly spelt. It describes someone dedicated or devoted to a cause or task.
Disciplined (VUfI): Correctly spelt. It refers to someone who shows controlled and orderly behaviour.

(a) Strike while the iron is hot (ekdk feyu ij rjr i(k;nk mBkuk): This idiom means to act quickly and take
advantage of an opportunity while it is still available. It fits perfectly with the context of making a
name for oneself by seizing the opportunity.

Fight tooth and claw (iji rkdr 1 yMuk): This means to fight very fiercely and determinedly.
Pass with flying colours (Cgr VPN 1 ikl guk): This means to succeed or pass something with great
success.

(d) Exterminate means to completely eliminate or destroy, similar to “eradicate” (U'V djuf), means to get rid of
something completely.

Endure: Means to suffer through something

(b) Oral refers to something related to mouth. While, “inscribed” (fyf[l) means something written down.

Verbal: Means relating to words or speech.
Obligatory: Means required or mandatory.
Dejected: Means feeling sad or depressed

(c) The phrase “status-quo” means “the state in which”.

Here, “status-quo” refers to the current situation or condition between the two parties involved in the
treaty.

(d) Up in a creek without a paddle (elficr e i(l tkuk): This idiom means to be in a difficult or challenging
situation with no easy way out.

Rolling up my sleeves (dke dju d fy, r;kj gkuk): This means preparing to work hard or face a
challenge.

Putting my nose to the grindstone (dMh egur djuk): This refers to working diligently and
continuously.

Working my fingers to the bone (Cgr T;knk egur djuk) : This idiom means to work extremely hard,
often to the point of exhaustion.

(d) The preposition “on” is correctly used with days of the week.

(d) “No sooner... than” is a correlative pair used to express that one event happens immediately after another.
This structure is always followed by the past tense, hence “than she received” is correct.

(a) When referring to a specific mailbox that has been previously mentioned or is understood in the context,
we use the definite article “the.”

(d) * Through (d }jK njokt I clgj): is used to indicate movement from one side of an enclosed space (like a
door) to the other side. This shows the action of passing from one place to another by going through an
opening.

(d) “The great" is correct as it refers to the great culture of the Spanish.
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89. (c) Squirm means to feel uncomfortable or uneasy, often physically or emotionally. While, “relax” (Mjie dju),
means to become comfortable or at ease.

90. (d) *Sceptical (IfnX/) means having doubts or being unsure about something. Similarly, Incredulous
(vfo'oklh) means unwilling to believe something, or showing doubt.
Stoic (N<): Refers to a person who remains calm and unaffected by emotions or pain.
Garrulous (Ckruh): Means excessively talkative.
Insensitive (VIonu'lly): Means showing a lack of sensitivity or concern for others’ feelings.

91. (c) Took
The past tense of “take” is used because the sentence refers to an action that happened in the
past, as indicated by the phrase “As I grew older.” The correct structure is subject + verb in the past
tense.

92. (b) * Surender (Xyr) : This is a misspelling of the word “surrender” (lei.l), which means to give up or yield to
someone or something. The correct spelling is “surrender”.

. Succulent (JI 1 Hjij vkj cgr Lokfin"V): Correctly spelled. It refers to something juicy or tender, often
used to describe plants or food.
. Succumb (] €kuuk) : Correctly spelled. It means to give in or yield, especially to an overpowering force.

93. (b) I could not find it anywhere.

“anywhere” means in no place, and its usage here correctly negates the action of finding the item
in any location.

He ate the sweets greedy (XYyrI): The correct word here should be “greedily” (Vi 1), as the adverb
form of “greedy” is “greedily”.

I haven’t got none (Xyr): This sentence is incorrect because “none” is a double negative. The correct
form would be: “I haven'’t got any” or “I got none.”

He is much weak (XYI): The sentence uses the word “much?” incorrectly with the adjective “weak”.
"Too weak" or "much weaker" is correct.

94. (b) Active Voice Structure: Subject + have/has + past participle + object
You have made a mistake in writing your answer.
Passive Voice Structure: Object + has/have + been + past participle + by + subject
A mistake has been made by you in writing your answer.
95. (d) Magnanimous (Mnkj egku): This word means showing generosity.
Magnificent (egku] "kkunkj): This means something that is grand, splendid, or impressive.
Grandiloquent (\MR;f/d “ICnk | HjK) : This refers to speaking or writing in a pompous manner.
96. (a)
97.(d)
98. (¢)
99. (a)
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